Name: \<E\‘ Period:

Ko~
Molar Mass Worksheet

Directions: Find the molar mass. Have fun ©

1 ker =391+ 149 = W40 9.0 %4

2. CaCly = 0.\ + 2(35.5) =W W\ &
3. AIFs = 23.0% 3( 19.0)=§4.0 4.0 %0
4. Na,0 = 2 (23.0) ¥ 16.0 = 62.0 62.0 L0
5. KOH = 39.\ t 16.0 +).0 =56.1 S G ERZ0
6. Cas50, = H0.\ ¥ 32. 1% 4 U6.0D>=\362 BCE =)
7 FesO, =55.8 %32, ¥ 4(16:0) 71514 Isi.a 220
8 Fea(SOa)s = 2 (55.8) + 3(324)¥12(16.0) = 3998204
9. NasPOs = 3(23.0) % 31,0 44 (16.0) | 64,0 20
10, Mn(NOs)s = 54,9 + 204, 0)+6 (16,0) 138.9 %
11. Cr20;3 = 2.(52.0) ¥3(}6.0) 152,020
12.CrySs = 2.(52.0) ¥3(32:\) 200.3 &
13, Al(SO2)s = 2(23.0) +3(32.) ¥12ll6.0) 312.3 &
14 AICk = 2F.0 + 3(3S.S) 133.5 %4
15. Ca(NO3), = 40.\ + 2(1*.0) ¥ b(16.0) 64| &
16. AgsPOs = 3(10F.9) } 31,0 ¥ 4 (16.0) 3F0.3 o,
17. AgP = 3(101.9) % 23,0 354.3 %00
18. V.05 = 2. (50.9) + 5([6.0) 181.8 &
19, BasN; = 3 (133.3) % 2 (14.0) 4399 %0
20. Case = 40.| ¥ 39,0 119.] &
21.Calz = 40,y 2 (126.9) 293.9 g%@
22. WCle = 153.8 X ((35.5) 396.% gm
23.5cBr; = 45.0 + 3(39.9) 284 4 2/011
24. Co(NOs), = S€.9% 2(14.9)+ 6(\b. ©) 1529 &9
25. Pbs(POs)s = 3(203.2)44(31.0)4 16(16 0) 1001.6 %ﬂ
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NoA—
26.C0O2 = \2.0 ¥+ 2.(\6.O)

27.c0 =12.0%16.0

28.50; = 32.) ¥2(16.0)
29505 = 32.\ ¥ 3(16:0)
30.N,0 = 200D 1.0
31N0 = 4.0+ 160
32.N,05 = 2140 +3(16.0)
33.N0, = .0 +2.(16.0)

2 (4.0 Y 4(16.0)
2(\%.0) t5 (l6.0)

34. N2O4

]

35. N20s
36.pcl; = 310X 3(35.5)

37.pcl; = 3.0T 5(3s.5)
-~ 'O

g np, S 140 £3CH ),

39.5Cls 32.0 % L(35.5)

40.p,05  Y31.0) ¥ S(16.0)
a1.ccl, =12.0% 4(35.5)

42 si0, = 28.1 12(16.0)

43.¢5; = 12.0 + 2(32.1)

44.0F, = 16.0t2(19.0)

45.pBr; = 3.0 \~3(:ﬁq>
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A

Moles and Mass Worksheet

Determine the number of moles in each of the quantities below.

L 250g0f Nacl (24:0¥ 355 = 5853 O 0.42Fm NaLL
25,04 M0 x S =[0. 423 el YR

2. 1255 g of H,S04 (zu.obj 320 % 4(6.0) = 134 %Q @ |.28mud szy
12555 Ho30y X gy Ll 28mek Hy 5O
3. 1005 g of KMnOs (331 + 5.4 ¥ t(16.0) =158,o‘%&\ (3) 0,636 mol kP 0y

ol

4 740g0f Kl (330 % 355 < b g ) —  (® 0.392 md kcd
Vol P, _
0 - =10.§9% MJ'Q KCVQ .
H, g X I4bg \ ¢ \@ 0 “H_MJQ Cwsoy .SH, 0
5. 35.9 g of CuSOs-5H,0 ((63.5 t32.4 ¥4(le.Of 5 16.0) = 2496 % .

CuS0,.SH,0

P X
35.18, Xm -0 \44 ™

6. 1095 gof Libr ( 6& ¥ H+1A = Y
Ve ol _ &,

lO‘{.Sg_)( m = \,1(»3 ('MJQ \%(‘ \

7. 33.45 g of KNOs (39.1+ 4.0 ¥ 3(i6.0) = 101\ 5k

20,33\ md? kMO D).
“ (3) 0,09R0mf GLM)
8. 15.95 g of Ca(NO3), ((40.) + 2(14.9% 6(16.00= ‘L‘\H\%Q |

= s\l 45O 0 ok OO, :
\5.0(58 CDCUOQ{.X 1o Vg -@l \?l Cc: 91@ O'O:\’ZSS’moQ KLSO
9. 12.65 g of Potassium Sulphate K50« 2 2033.0) 1324 ¥ (16.0)7 [F43%0

12.6Sg K,80, A g :_\ 01258 mdl K, 50, 0.35 i mol P(0)

10. 156.98 g of Lead (IV) Chromate Ph{Ce OQ; 20%.2.%2(52.0 )t §ULO)=432%4

15038g Po(CrO) X e — = \Wcuopl

39219 —
=N . _ ; )
1. 0.9568 g of Tin (IT) Todide SnT 5= UEF +2 (1260251320 (D) 0.00256% 5" 22

Ve B Y
12. 12.65 g of Titanium (III) Cyanide T, (@), %3 g ‘ |

| = . 2 - is.q BR .
12655 T{CN ) X 1253g ~ @ 0asomk D

13. 15.65 g of Ammonium Chlorate NH&QQOS - 4o v el9) Y 5§°Ot3(l6‘0>
=10 .0

@ |.26 MSQ LB

@ .33\ mol XNO,

Simmer Down Inc. (August 2012) “9\ &
, 00 N m B o '\)\‘) ( 0
|S.B58 NHy G 5 X ———-—-‘0\'06- _,wO'\SSD s—Q i |




Name: @ Period:

. w . . .
Determine the number of grams in each of the quantities below.

14. 25 moles of NaBr (23.0 +734.94 = 102.9 g:f/"wp‘\ @ 160.3 VY

a5
2.5 ml N2Be X %i—'_— = ZS“.(.% Na®

i

15. 050 moles of H2CO3 (201.Q+12p¥ 3(6.0D = 2.0 %‘,&\ @ 1 Vo \—lzCOg
0.50mf W00y x £28% = 31,0 H:(0,

16. 1.70 moles of CaMoO, (40 T 45.9 -\"\-(\b.o).:iooao 9’@ @ bLfO. g_Cap’Oou,

|30 mf a0, x 2902 =340 g G0y

) mal :
17. 0.25 moles of cscl  132.3 + 35.5 = Lb‘c‘v-‘f%b 12 CsCR
0.25nd G X ”’—;&-ﬁ?—— < qu\%tCsC.Q

i e
@) 18904 TS O
18. 3.2 moles of FeSO4 - 7H20 (ss_&*az.lH%U(a.oyv:ms—.o):z:ﬁ.c\%b ‘?j_& s re

32 o FeS0, o x HhAe 3894 U0
o T Ve K \ \55\% C"C?-Owl
19. 3.75 moles of CoC204 (583 +2(12.05++(16.0) = TACY: )

3.35ak GO, % 146.93 - 5o|g CoCaOy

| \wal \\\(o 0
20. 4.15 moles of CO (12.0 +le.o: 1%.0 %X\ L 8¢
40Swmel  CO X __._28°0i*._ = log CO
\mak 28."} O:t_
2. 0.795 moles of Oz (2(16.0y= 32.081) CE

O0.39S mod O, w320 _ 25.4g O

22. 6.25 moles of PbO Djézoqtm - 23280 ) @\\3 ‘{Oé RLO ‘
625 ml POX 223 < 1384 g R0 "//o‘_x

23. 9.15 moles of NaBrO (23gt 79.9 + 6.0 = W&+3 B @\f%g N2Br
quismol NaBrO x E3%— < (0gFy NSO ‘

24. 2.25 moles of SnSO; (115 %1 22\ % 3(_\&,.0\:\‘1893',&593 ®m

=
7.,25mul Sh 805X ‘ﬁ% - Htdg S'“S% @
220 ‘%168 MR O,

25. 1.86 moles of AuBOs (( 13H0 +10.8% 3(lb,0) T LSS

| s6mel Nu®0, X 25583 = W3 g AuBO;
RS A v g g 33 l&C\\HQO%
26 215 moles of CuHPOs (3.5 + 110 31,0 +4(160) =1STI % Ci
21Smd PO, & B358 343 (RO

X )3 o CrdsOy
\ g
27. 0.750 moles of CrAsOs (53,0 & F4.4+ 4 (Jo.OF \Ct0.°\‘g‘/,_&\ ka
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Name: @ Period :

LW

Chemistry 11
Moles and Avogadro's Number Worksheet

Directions. Answer in the space provided. Be sure to show all your work. Have fun and enjoy
the chemistry awesomeness. Use 6.02 x 10%* for Avogadro's number.

How many molecules in the following? How many moles in the following molecules?
1. 3.25 mols 7. 1356 x 10%°
SolS'moe “-——-—m.i—-—-—-—- = l'qul Mo\eu‘-e \wBS()XIO o
el meleales K ooy
24
> 5.00 mols 8. 5.689 x 10

) 11 Wik o
3 Y ¢ =
6.02 % 10 molecades :\3'0\ yS[Y) mo\m).\eg‘\ 5,689 X ’Olmo‘ecu\ej X m _

g.OOMWQ)( Vm ol

26
3. 1.275 mols 9. 1.005 x 10

b o]
6 0zxi molewdes N3 (8 Y10, clecid], 005 x 10%hodecs® ¥ G0, ¢ 1 Pmaeali

ilnlq's-w\ag% \maﬂ

21
4. 0.07950 mols 10.4.25 x 10 ", m
m _lo, -
d ld‘a N 12 2\ e(dul(l_( X - =
0. 05350 wel ¥ 6.02%1F mol ecdles ATERSCNYS AN mo\ ot el . 002
Uim ol
| 25
5. 0.004580 mols 11. 6.985 x 10 "
m

_— |mamﬁ l
0.00% 580 mul y 6,00 119%molectss 1 308 el fo- 18 110 mdeads i €. oo (Cmotecks
b mok
22
6. 125.25 mols 12.5.258 x 10 3
_ W . _\\m______ = 0.08—;}3('\
‘LS.Z\;WN,Q )( Q).Ol\( ‘013 mo\eo.k\ei = ogq,y'éiﬁ‘&eﬁg. LB&)&ID mo\?@’i\‘“ )( ‘:)‘0)- * lo‘jﬂ,’o\e‘_ulel

Vo
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Name: @ Period:

Moles and Molecules Worksheet

Directions:Answer each question in the space provided. Please place your final answer
on the line to the right. Be sure to show all your work and watch your sig
figs. Have fun ©

1. How many molecules are in 3.25 mols of water?

. 23 : ,
3-15\'-\0Q H)_O % 6.02¥ |0 mo\erQA H)_O " LO”O Xfod’q‘makewﬂade HJ_O

Vmul B0

2. How many molecules are in 65.78 g of Copper (IT) sulphate? CuSO, = 635§ 32,03 '+(\(,.0§1l3‘f.(;:

25 E
~ \em o GO Oiroleares iy 2 3
(og.q&g_ CMSO;,.% \SY.b %_ K Ve ol _ = 2,'1'& X 10 mo\e(.uiﬂ CLLS "

3. How many oxygen atoms in 75.12 g of Calcium Oxalate? G, Oy = oM 202.0)44 (16.©)

= 1280 80
2>
mo\e(}'\\es I+ i ¢ 0
Voo o ¥ 6,02 10 vamt = )Ly atoms O
15-”3 CeGOy % E g % Vi ok X dleate o

2.08U
4, How many hydrogen atoms in 5.25 g of ammonium carbonate? -_Q\)H@L COj ~204.9¥3.0 ¥ _

2 96,0 £0

\ wp b. 'LEmo \0 8 o H
5253 (NHN,C03 X ;Z—OX ﬁ)—wiﬂ el Sxtom bl 15765 ohoms o6 H
e \'m S

5. Determine the mass (in grams) of 1.67 x 10?* molecules of Sodium chloride Na (L=23.01358
= SETY 29

3 . N LO \Mul S
‘.(0?%'0 mo\e « e 8 X G‘Oix"lb")moleuﬁu X %: lb. 28 “b('ﬁ
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Name: m Period:

| —

6. Calculate how many grams of Lead (II) sulphate, if there are 9.28 x 10% oxygen
atoms.  PLSO4= 20}, L+ 3203 4 (le0) = 303.3 &

melade @50 ok B,y 0 (a0

K atoms O 6.02%(Pmoleda Pb oy

q.25%10° O avoms X .

7. What is the mass, in grams, of Magnesium Carbonate if you have 2.568 x 10%° atoms
of carbon? g CO 3= 243 £\2.0+3(Jb.0)T 343 E=g

Vvl -
2. 5680 atoms & C X \molesde P00, - K 8*-1‘1&_ :\3,((00)()03 g Mg (O

\' atom B G b.02x(0 mo\euﬂei g

8. Calculate the number of molecules in 69.75 g of Sodium Oxalate. Na, C ,OL‘.
Na, €0, = 2(23.9) % 2(12.0) + k. ©) = 34,0 &

Vol 6.02 X105, \ed €S _ B
Gq :"Sg_ NBZ_ ZO )Q Wx \ f")a-o E\SX’O mo\e_caoe,s Nézczokf

9. How many hydrogen atoms in 0.275 mols of Potassium acetate. K CW, (OO
K Uty COO _ 5 =

-

4.3 Y102 afors o

(o,OL)(IOan\ow.\"s X 3 akoms H _:,
\ il : Y molecule

0.235 mod Xerhtoo x

10. How many carbon atoms in 77.895 g of Aluminum Citrate. AL, CoHs O3
pRCeHsO 3 = 3GHoNt 6121 5.0 ¥3(16.0) = 270,04

ijo C { 6 ate C_ == —]
\ el (.02 0 molecule L " :|»|,0‘{-)((0L\f<\,‘\'0m5°ecf

X
230.0g \ v sf \molecule

33,895 ACHOY

26
10
11. How many grams of Sodium Benzoate, if you have 9.890 x t626—carbon atoms.

Na ¢ H;CO00 = 23. 0+ 312,04 5.0+t 2 (lb- o) = | 44,0 &/J

e Lol ecte Nall @0y 4.0 &
____-___—__.-_——— R —
q.890 %O E,J(O’”\NQC)( e p—g X (;.Ol\kl\fjnolm\@ Lemed

- 3,3“:5‘5
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Name: {_\(<g:(,> Period:
L

Chemistry 11
Moles and Volume at STP Worksheet

Directions:For gases at STP (273 K and 1 atm pressure), one mole occupies a volume of

22.4 L. What volume will the following quantities of gases occup at STP?
1. 4.25 mole of He Ci sk of Hy

25wl Hy X L %L%H" = 95,21

ol Hy
2.3.20 moles of O - O AL L O,
o 6

2 20md O, ¥ 12456804 - 7131

5 Vsl O 2
3. 0.750 moles of CO: (7) ((; 5L of O, |
(b

O e g Cot s of (O G S

_ \MOJL Cots
4.175 moles of CO; it ‘ﬁ 2Lof QO, |

V35w ¢ K 7'2.%1_\}@ Coz:3‘? 2L

L ol €O, ' |
5.7.50 g of NHs @ q.36L of NH; |
© |

L afNHy
Ui R 224 .
FS0gR N X TR Ny el N

6.5.05 g of Hz

56.6 L—GQ\ H,

MJQHL ZZ'L"L”QHL: 5
S.OB&QHLX\ bG'QL

2-08\‘*1 \mJQ HL
7.100.0 g of O, @?0.0L aé O,

Lol & ZZ\LH\“@ Ol = J30.0 [

100%0@02)4 N 0&‘”%())( Yol O A
8.28.0 g of N2 @ 2’1-%L°’€ N,
\ wg/\) 22 ‘%L Ml .
2600 o) N, X o= X AR ERTE

& X 18’.05/\/ Vwod AN
9. 60.00 g of CO; Qco, - 22.40aC @ 30, Lof o,
1™ X _}.i__{'hjo bL

b0.00g %6 % X Tirgy®, © L4 Co,
Simmer Down Inc. (August 2012)
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A~
2
10. 9.65 x 10?* molecules of NH3 @E;SC( YO L MNH,

O dada D A T2

11. 2.458 x 10%° molecules of N; @ Y. \S L "‘8 Ul
—

\m ol 22 4
6 o (Proecdes” | mod

12. 6.598 x 10?4 atoms of O (in Oz gas) @ )PS - “@) m
s

| malecle ‘_”‘."'Q__.________ 2
B.SC{&\UO tors o Ox h_’sﬂ,,.wfjcr)xl,O>:/~ld’\f-to\(tw.\ej e

3
13, 7.526 x 10? molecules of SOs @l& .JOXI0" L 50,

s \MJ’Q 22,4l
<.526Y 10 mo\ewleg ofS0x T Y tmol

14. 9.758 x 102 atoms in N2Os 91519 K of) M, 0 |
\ molewr’e mo\ewfoe LM

5 Hse WG moteader Ny X

W\

23 . —_— A
QIS0 sm«sw“ﬁs% T aXoms Xe 02103 molecule ool

15. 6.758 x 10% atoms in H2504 @ 3 59 X/0 L of M50\
L L

\Ma\uwQQ \MWQ ){_ . ;
b ASEN 1D atong w 50, % 3 atom Yo ontiPrdeadsd 1o

Kk o,
- t
16. 6.789 x 10°® oxygen atoms, in Sodium acetate Ny, COC .26 KO L “@ Nc\,cp‘j o

1 b . \MO\Q‘J&QQ_ NQ,G{)COO \ V"\!)-‘Q K 2 .LfL.
b.‘:‘(’gﬂ%/O O E\“OW\S X 7O A%DM} XG,DL']UOBAQ\ELJQS —T\ -
N S
17. 7.62 x 10%® hydrogen atoms in Magnesium Benzoate @ 5°Q,4xlo ’—UQ m@ Q,HSU
h\%ceuscoo o
: ' 22,4
q‘&l%lo& [ atom ¥ \MGQWDQDE&GHS.QOO \L \fna& - X QQ
5 atoms B 6.02y. {0 -{\olew&m I m
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Name: KEY Period:
N

Mixed Mole Problems Worksheet

Directions Solve the following problems. Be sure to show all your work

1. Find the number of moles if there are 7.63 x 10%* molecules of a substance.

= T el |
.63 (/0 molearles % 6.02 ¥[8 moleuiles

2. How many moles of CaCOs are there in 2.00 kg of CaCOs? (f0.\ ¥1\2 ¥ 3006 210052

o
2.00kg % 12258 f\:‘; lo‘(‘)‘““% ;’ = 220.0mdl QLCOS

3. What is the mass of 8.42 moles of (NHg),5? (2(4.0) ¥ §0 +32.\ = 65.) & uﬁ-’\

65\ g (DS 5334 (WHY, S
F.42 mol (WH),S X SR TTRE g >

0 =32.0 2
4. Find the number of carbon atoms in 18.5 g of CH3OH (methanol). (120t 4-0 tHb. B ""'&'\ |

(H,COH 6.0 2 (0> o\ewﬂgd \ Caton A3 s IOB |
\8’-59_ QHgCOH X ?\,’)_mgi'(}lgﬁo_i‘rx ol ‘ X Imoleude a‘,\,oﬁs u_%Q_

Bl If one litre of a gas at STP has a mass of 3. 17 9 what is the molar mass of this gas?

6. What volume at STP would 11,50 g of oxygen gas occupy?

A \m«-‘QOR\ Lt L - S L@%O
& D..X 22 Og O, \ ok

7. What is the mass of 33.2 L of SO, gas at STP? (32 4 2(\6.0) = b \%ﬂ_\

_\_TL)( Q)L"'\ gS L_} - S’OS‘ SOL
124 - \MJQSOz

332 L X

8. Calculate the molar mass of a gas at STP, if 360.0 mL of this gas has a mass of 0.680 g
molbd Mass o) gas
D Rl

0.650 1 4.3
b?(’og‘:‘ )( \m«LQ ’+ %—JL

Simmer Down Inc. (August 2012)



Name: C\Z’E—-f\b Period:
S

9. Methane has the formula CHa. Calculate the mass of 2.75 L of this gas at STP.

ol 6.0gq CH
\M,Lh_, ¥|0g_ % ml

23L X Ul CH,

10. What is the mass of 5580.0 mL of nitrogen gas at STP?

VL Vol 509 Na 216,48 g Ny
SO oo X L A m

11. How many atoms of bromine are there in 175.0 mL of bromine gas at STP? (Bf:.

\vawQ 6 .02 (0 FPmolewd\es 2 atoms B“__ c‘ LHXIO
L _ _
\25. 0 0% ¥ T TR LT e

1000 m -

12. How many molecules of CO; are there in 2.57 L of this gas at STP.

60X el {CATHIO olcols |
o 53 iol) OSSR TRl GO 12 2+ X0 melec U EIEATR IO moleores »

AL 00, el

13. What is the molar mass of a substance if 4.60 x 10°* molecules have a mass of 226.9 g

b. oL K foamb\- eu&\es g
269 ¥ = =(2a3 &y
4, (QO%’OLVm o\eage,s I m

14. How many atoms are there in 0.125 moles of Calcium phosphate? C%@OQL

6 .02 K{DUmo\&w-ﬂej 13 atomg s \ ,53 o
O RS MGQ C%L?Oq,\t\?( sl = &% Vol ewde C%LPOq\L s

15. How many atoms are there in 7.61 grams of arsenic? AS_/—/;QE
(020 dYom e As ' _ ¢ 10 aYoms
1@\3%%\“‘”‘2 g o =|6.1 X

lhck%' \YV\J-»Q

16. How many nitrogen atoms are there in 0.310 moles of aluminum nitrate? A.,Q@O;j

2
0.310mud RRL(NQY, X 6 .02 %10 "molewdles y 3 atoms of M
‘M“'Q \"ho(@,u.,le
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17. How many atoms are there in 7.65 g of Aluminum sulphate?
2(23.0)¢ 3G\ Y F(6.0) = zw

Name: kE\/ Period:
SAAST k

A 6,020 moleudey 1 atoms

' \m D — - ————
F.654 Moo, X T X Vaesdie = 2.9 K0P ators |
342,39 2.29 x 10 23

18. How many oxygen atoms are there in 18.00 g of Rubidium nitrate? Ro U03 | . H\{ "
WQ 6,000 maledles 3 atoms 0@0 \: $5.5 ¢ 1+.0x3(6.O) = =S

X
Hi5g Tl y molecde %U% \EM_’

19. How many atoms are there in 3.65 mols of Calcium Sulphate? SO Y

\¥,00¢ \\\3003\,(

G,O'L)Lloumo\ecu&ej Ve b aYoms

3.Q>§r’m)j2 C&SO%X  yo o0 Ew \’Mo\eowqe,
20. How many hydrogen atoms are present in 182.3 g of Ammonium oxalate? (WHY, C '2.0
Vimald 6.02 10 Proeadey & atom H 3,05 e
182439 CUHDLQOYX (2%.0g ol o \ molesdle (MHY), G0, o6 H

21. How many atoms of oxygen are in 925.0 mL of SOj gas at STP? 00
6.02 % (0= molewdes 3 atom 06 7 IO Yo ms
o =T 46 )( Q&
OOQlSOLX“E;:;\_—: X 1ol X Y molede. \ molecule SO q—

22. How many grams of oxygen in 780.0 mL of oxygen gas at STP?

. 0qa ob Ox O
1500t " L& Vol 220807 1 \\g o
X 000 m L 2.4 L 7 tmaf O ‘8r

23. How many molecules in 125.0 mL of NO; gas at STP?

2\
) oL \ mJ 6,02¢ lo’5 mole e - R 73@, XIOL mo\ewLQ?J
/UO3

\15,0 mlL X

1000 m L * L4 - \ ook
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Chemistry 11
Density and the Mole Worksheet

Directions Answer in the space provided. Please show all your work and place the final answer in
the line on the right. Watch your sig figs©

1. What volume is occupied by 4.25 mols of chloroform, CHCls? (Density = 1.498 g/ml)

L
\4.s \'m .
hased CHely X\ o o, ey T 33
-
|23 % -
4

2. How many moles of benzene (C¢Hs) are contained in 627.9 mL of benzene?
(Density = 0.879 g/ml)

L q .y 9:839CH, \ ] O MR EET o&mof) C.He
8 il L~ % ?%Og,ﬁg\-[(,

| #.08mol L, |

3. A 2.25 L bulb contains 3.20 g of a diatomic gas at STP. Calculate the molar mass of the gas
and use the molar mass to identify the gas.

Ay 3.2094 = &
Dewsity™ A =142

2.0 _
22 = 16.0% molsg Mass b 49

SN 53 EL I o G -
Mpla Mas= L4 X e B)'Z.Ow—?:Q (;g Diatooc gas ﬂ
2
L\

4. How many carbon atoms in 2560.0 ml of ethyl acetate (CH3OOCH>CH3)?
(Density = 0.894 g/ml)

Y C?LH.%O_,_ Q.leloz‘},oleuj( 3M
: tmolec
Ra Ongﬂg Ol \ WOQ 0‘% {

- EB\ X 'OLL‘—EA'OM J(Z C &

0:8U%¢  150.0mL X
\ mb
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5. Acetone (CH3COCH;) has a density of 0.786 g/ml. How many atoms of hydrogen in 325.0 ml
of acetone? (CC3H, O

0:386g (MO Vmod _ 6.02¢ 1O moleule , © ke Y
. Om SRR A Y
¥n L - LXS&Og_ ) (Y X | moleadle o Gt ©

=\ 59 x/6” &170%097 H

6. The density of Hexane (CsHis) is 0.655 g/ml. How many molecules of hexane are there in
3.25L Of Ce,H14?

\ mu—Q 6.02 \A(O{?’\O\CU«LQU

e N T ]ﬁlo‘tclwoﬁmo\ew\el CoHy
I % 5698 l"""’? —~

7. What volume of Ethanol (CH3CH,OH) contains 1.29 x 10?° hydrogen atoms? Density of
CH3CH,OH = 0.789 g/ml)

ZH:,OQ_ _ |
\mol 72 0,389g

8. Isopropanol, CH3CHOHCH3, is a liquid having a density of 0.785 g/ml. What volume is
occupied by 9.25 x 10%° molecules of CH;CHOHCH3?

I molecuﬂl CLJ-QO _\_'\fi_.__.———- X

13
6 akomt o W 6,000 olecdes

129 X0 utoms g N X

< [ \FXOmL

60.0 | o L
b \no s - Y —
EFPINNEo) MO\&&Q&\%GOL\LIO&%\O\ ) * ln,“)—Q 0 A&S¢

|
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Percent Composition Worksheet

Directions:Answer in the space provided and please show all your work.

Calculate the % Composition of the following
1L CHe  202.0)F L(1.O) T 30.0 %y

O o P _ 6.0 o ﬁa
7Ad LX’OO/ 30 /o % N =300" loo/g@

go

(1l

2. caco; 1 (40N + 1 (1R©O) ¥ 3( 6. o\ 100.\ -y
O Y1007 =12 %0= 100.\ ?UDO/@

© = Lt'o'\ s 2 g(-L C\.
% Co o X/00%= 40 / % IOO‘

3. Ag(NHz)cl  ((10F.9) &uw@%u ©) +\ (,35083= EER
1029 X/oo/o@ % H = 60y 100% <[3 2L H

7 hg= 13y VLY
i o, pff = 3 / ﬁ}
e o o] ke Bl o C

Calculate the % composition of the BOLD species in the following
4. Cacly - 8,0 = 1) ¥ 2.(35. )+ 1601 O+ g (1610 = 255.) &

2.(35.5) o =|28% (L
N = e KOO 5 /o

5. Fes0s = 1(55.8) ¥\ (3.0 % t(16,0) = 1514 &L
o 16,0 0 -
40 = ik X/OO/@=i’T2/OOl
1IS| . A
6. Fea(SOs)s BH0 = 2.(S5.8) + 3(32.1) +12 (16.0) + S(15.0) = 489, 9%y

SC\E‘.OB o (o]
Y M0 = ——2Z %00 |18 H,0
M 459.9 [ 2
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Empirical Formula Worksheet

Directions Answer in the space provided and please show all your work.

1. A compound is composed of 27.3 % C and 72.2 % O. What is the empirical formula

of the compound? {1003 \ R
Cz ?) \Y"\O‘Q _2.2‘?§ N°Q,O'Q O: _'"Zozg)( lboo B Ll'o SIZS
Mol gf(; , 2% g_é_j},i)cx__ -
T=ZZ¥%  pd T — des CO
& V% = % \ Emp Taimuln™ = a2
3 48 ]
Ofplitime 2
2. Calculate the empirical formula of a compound that is 42.9 % Carbon and 57.1 %
Oxygen. (10047 (%99 (S3.g>
= \Mu—Q 1 + 34545— QADO
ot bt ag kG = 8s3 il Tass
3.5%¢
‘3‘%0:57&\ X \mod 3.5F
ml 9 lb.0g = 3.5%F mod O S35 !
3. Calculate the empirical formula of a compound that iz 70.0 % Fe and 30.0 % Oxygen.
0 +0.0 O
Lok -Og) (30.09)
mof Fe =, 10.0q X =g vt Tias A
06 + Ss.¥q ~|.ZSMO»Q Fe - ——— X2 R F:b:;—({n—r
vy T Va2 2 .
= . 3 = -
& le.Og = Lg-%m"‘Q O v T 1.S] 3 3 PQZOB .
l—

4. Calculate the empirical formula of a compound that is 39.99 % C, 6.73% H and the
rest O. L 233 RATo

- (rmrQ
med of C = 3999 X To- a3l 1

- Voof 4
vl o M= 6% K ol 2

moll o§ O= 5325 (1l 505 J 2 =

EM? Formu\z_ .

Q Hz_oz_

lb‘C)g_.
5. Calculate the empirical formula of a compound that is 52.13% C, 13.15% H and the
rest O. 0% \
- ek 0 2 Enp Fomale |
ol of C= 5203y » = \

C,H,O

= \ mof
M%O%H ‘3'\§8 X l__._oa___ 13l m&Q (0

ol of O 23495,y el
I o0y = 203wk |
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Molecular Formula Worksheet

Directions:Answer in the space provided and please show all your work.

1. Dichloroacetic acid is corrosive o the skin and is sometimes used to remove skin
blemishes. It has a molar mass of 129 g/mol and the empirical formula is CHOCL.
What is its molecular formula? mw =241 T To¥35.5

X M EMas 129 % MW sy CHOCL bl S &
Revio = — . =2 o B
Fmésj 6"1%5{\,,0, Lmp Fom Masg
= 6%. 53y

moleculan Formule © N O, C_O

2. A compound has an empirical formula of CsHyi. If 0.0275 mol of the compound has a

mass of 3.91g, what is the molecular formula? S
X q Formuk\e-_ Masg = S(2.0)V '

‘Mol \er Vamyx\c Masg = 3.9\ T 2_ L"mP
S 0. 025l 20 Cs ™ = .08

Ratto = M- Form (RS 38 2.2 %8 o~ 2 Molecsddn Fbrwl&b: CioHas
an@ B Magd 4.0 % |

3. A gas has an empirical formula of CHa. AT STP, 0.500 L of the gas has a mass of

0.938 g, find the molecular formula of the gas? S Eorouke Mass CH,= H'O\%
tmolen\m Tormale Max= Q_f\}_S&_T: "floOf’“;[
0.S00LY W
22.4 L
Rb/'\(\ = Ml Form My L{—)_ O &= = ?) L o EL&QO’\ Fo(‘muL A C’XH]
Emp Yorm Masg 0%,

4. A sample of gas with a mass of 0.522 g has a volume of 4.50 x 10° mL at STP. Find

the molecular formula if the empirical formula is CH.
Emp Sormule  Mass C'H

molgullo Tormle T = 13,0 &y
= 0.S224 - 2)“"6\8/;);‘;& @~ e
Lm'— Vie \n-\\yg
300 ><;@oomL 224
R
o o kTt LTELR ol Fnoald
':tf‘np Fomm‘gsj 13‘0% - C HL
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Chemistry 11
Molarity Worksheet

Directions:Answer in the space provided and please show all your work.

1. What is the NaCl concentration when 0.658 moles of NaCl is dissolved in 2.50 L of water?
N ECQ(S) - MBZ\,@‘) Ay Q\-Q(_%B

Wi = =
VW o =023 M [INs 0, 230

2. What is the resulting molarity when 78.90 g of CaBr; is dissolved in 1.5 L of water?

MW o Cabr, \med
1 (H0.) +2(39.9)= \qq.qh L Co®e, | = 38909 % \qu—_“ﬁg X s
I EC&G(JI:O'%MX

3. What is the [KI] when 3.45 g of KI is mixed with 1.25 L of water?

= 0,0l M
L GB0DF 1(1269)= (66 0&& LkLl= 3.4 X“,(, Og X oj.asL

LEK:L} = 0.0166M 1
4. What is the [CaCO3] when 123.6 g of CaCOjs is mixed with 975.0 m| of water?

MW of ®QO5 4 ol \
123,69 GCO; \¢ = [23

Hoo\ + 12,0 +3016.0)2 [00.\ % (00:\g. “ 0.5t -
R T caco3]=- 2%

5. How many moles of KCl are contained 3.50 L of a 2.34 M KCl solution?

2.3‘1_’{‘1 KCQ ®3.50L :(&\C( ol K CLP

6. How many grams of CsOH in 3.00 L of a 0.250 M CsOH solution?

MWy (sOH
V3244 16.0 11,0 m,qs—w

= O, 26™M

Lll,
180’“4) (SOH X 3.00L% ‘Im'l)ﬁg_

= “lg CSOH
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7. How many grams of KNOs in 925.0 ml of a 0.925 M KNOj solution?

MW of KNO; \
) o) Jol,
39| +14.0 t 3(k Oy = \0'.\%‘00 0.95 2= « 0.4925L X ‘ﬁ = 86.33 KMOS

8. What volume of 0.275 M NaCl contains 1.10 mols of NaCl?

\Tlgm& ME(,Q)( ) L :14.00)_ N0 ‘(

0,215 mJQ

-~

9. What volume of 1.250 M KBr contains 97.5 g of KBr?

mwe) Ker Vmod L |
391y $9.919.0%, s B X og < 1250 ‘{O'Q%L SEn

10. How many molecules of NaCl are contained in 3.25 L of a 0.750 M solution of NaCl?

6.02X 1D%mo leadgs N

24
o&sof‘r“o Nall X 3.25L X ol | 43 X /O molectler Nald

11.  How many oxygen atoms are there in 975.0 ml of a 1.75 M solution of CaSO4?

Bmo\eu-«o@ L} tows O 24 B
. 0 6.02 X (0 X 3 ~| 4.\ X/0
L35 52 G50, x O.9%s0L X | moleake (350, | atoes o8 ©

12.  How many atoms are contained in 1250.0 ml of a 0.975 M solution of Pb(SO4).?

X U at, o 2f
0.9%5 = % X — LY
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Chemistry 11

Dilution Worksheet

Directions Answer in the space provided and please show all your work. Watch your sig figs!

Initial Volume . sl
- ; i Inail voiu = i | 0o

1. If 45.0 ml of 1.25 M NaCl is added to 155 ml of water, what is the resulting [NaCIJ?

[I\)cUll [o25 mok X 5.0 - 0.28 | m
dil L 200.0 mLL

tr\)b(hQ]D'\\ = O. 18\ ™M

2 350.0 ml of a 2.25 M CsOH solution is diluted to a total volume of 600.0 ml, what is the
molar concentration of the resulting solution?

-

[CsoHT] =225 ed 350.0mC - 1.3\M

600.QmbL
Ceson| = 3V™

o I @
3. What.is the resulting [KBr] when 125.0 ml of 0.450 M KBr is mixed with 250.0 m| of 0.550
M KBr?

V25,0 mL
335.0mb

< 0%

3?50 mb

[ker] = Ousond x <0500 ¢Br) | o= 0.5 ssoed y =

v ®

):K\m O. \somﬂf) 36F M =0, SitM

TohL-
S I O.S\f(r/(‘\#\

4 What volume of 7.00 M H2S0, is used in making up 3.25 L of a 2.15 M H2504 solution?
o —
(F.0022 5\/;0\*‘.& = (. \S@QS (3.28 )

5 eof 25O
Viaas & (2.
(F.00 =L

S

Vi = 0,998 L
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5. How would you prepare 2.50 L of 0.650 M HCl(g), starting with 10.55 M HCI (find the
volume)?

(055 ™) Vina d (0.650 ™) (2. 5oL

Vierd = o520 N ERIS:
C10.S5™M)D)

Mm& < 0,54 I—J

6. What volume of 11.75 M NaOH is required to prepare 750.0 ml of 0.975 M NaOH?
: (L3S m} V'\n‘(\‘;& -

—_—
—

Co.q3s™) ( 350 0 mb)
VT (08Fs ™) (7—§0.0m'->

ChFsm)

\/\."\‘\'\'\\E,Q - é)zo 2. L

7. What is the actual experimental procedure you would use to prepare 1.25 L of a 0.750 M
NaOH solution, starting with solid NaOH?

MW N OH =23.0%16.0%1.0= 10.0g.

O‘jrso%x }.2S L X 40.0g_

—[33.5 o N20M
Vool g
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